SITUACE OPRAV

Asfaltove vrstvy opravovanych mist:

m — CELKEM

tl. 5cm

[ ]ACO 1.1 5
ACO 11

ACL 16
ACO 11
ACL 22

C

Wt 5¢cm
.tl.10 cm

} CELKEM

L5 om
L1 em

W15 em

M

i

Velikost opravovanych mist:

1) 3,1x12 = 37,2 m2 6) 3,6x14+2,6x6 = 66 m2 10) (7x2)x2 = 28 m2 14) 7x3,5 = 24,5 m2 >> zrueni ZP 19) 200x6,5-60-49,5-100,5-93 = 997 m2
2) 6x12 = 72 m2 1) 15x37 = 55,5 m2 11) 7x8 = 56 m?2 15) 1,5x40 = 60 m2 20) 8x3 = 24 m2 >> zrueni ZP

3) 3x17 = 51 m2 8) (6,6x2)x2 = 26,4 m2 12) 7x3,5 = 24,5 >> zruseni /P 16) 1,5x33 = 49,5 m2 21) 270 m2

L) 3x13 = 39 m2 9a) 3,3x25 = 82,5 m2 13a) 3,5x2,5+3,5x58 = 211,75 m2 17) 1,5x67 = 100,5 m2

5) 3x55 = 165 m2 9b) 3,3x29 = 95,7 m2 13b) 3,5x58 = 203 m2 18) 1,5x62 = 93 m2



